FEmmBE S=1:250

MEER L=1174.5m

#EREY L=280m

FISEH

#2 A FE T L=880. 5m

'Oy - fEEER T L=12. 20m H=5. 00

EIRER L=14. 00m

B

S=1:100

A A
P —
Co
(dm)
[ -
X L L L LA L
ERkLYISER L=280m
o———eo— ® — ® b As
° e < N "
—— = S —— Aol
o o
J_B_E EEENENEN ] R
" & XEEHZ YREZ
NO. 0 304. 915 301. 058
0+2.0 306. 913 300. 961
0+7.0 311. 907 300. 717
0+12.0 316. 901 300. 474
0+14.0 318. 898 300. 377
EFﬁ S:‘I . ‘IOO T.1 300. 000 300. 000
7 T.2 324. 152 298. 876
15. 00
o HIREE L=14.00m
] 12.20
JOoyOiEERT
10. 00
—— =
E
- S3
= ,
_ Sl - Lo
zm’ 5 «
it K «
k o
- — - ] o
7 N
— o K&EIJawvy —
o™N
5.00 -
(e)
[an]
1:100 T
DL=0. 00
Lo QW% )
ke .19 o
) [Ty S M s
o — —
. S o o
2 o s s
5 S 5
v £ 5 S S S
o o™ o~ — o0
= . —_ ~N < © ©
z B 5 o o o o S
© o~ — o =
n — ~— N <t © ©
h iz 5 S S S S S
S 3 3 3 3
1B fn BB B S N ~ o <
o o o o o
. - S S S S S
B OE M| o X - =S
o o (e] (e]
) = o - - ~ =
Iﬁl i % = P ‘-1‘ ': T T
= o () o o

=B S=1:50

e = 1.8m2(1.0 m2)
eR = 0.6 m2(0.6 m2)
B = 0.8 m2(0.5 m2)

¥ ( YNORFIKEREETT .

Maga>2Y—+bk =0.16 m2

0+14.0
e = 3.0m2(1.0 m2) GH=10. 69
eR= 0.7 m2(0.7 m2) , ;g:“’- 68
B = 0.3m2(0.3 m2) ' s
% ( VAOHFIIKEREETT.
eI 21—k =0.13 m2
D.HW.L
==
DL=5. 00 _
0+12.0
e = 1.8m2(1.0 m2) 6H=10. 60
FH=10. 61
eR = 0.6 m2(0.6 m2) 3 50
B = 1.3 m2(0.5 m2) 175
% ( VAOHFIIKEREETT.
MggEa>21)—F =0.16 m2
D.HW.L
8
o
N .
P
DL=5. 00 _
0+7.0
e = 3.0m(1.0m) Fto 42
eR = 0.6 m2(0.6 m2) 3.50
B = 0.7 m2(0.6 m2) 1.75
X ( )NOHEFIIKEHEFTT,
g2 1)—bF =0.16 m2
D.HW.L
8
s
:III:
Y ==
/
DL=5. 00 ’

0+2.0

GH=10. 23
FH=10. 23
3.50
1.75

NO.0

D H.W. L
o
(=]
o
I
I
X ==

DL=5. 00
o
o
g
@I

X =
DL=5. 00

GH=10. 16
FH=10. 15
3. 50
1.75

aV9)—hJ Oy R BW-L-N(b-R) MOET
H=5.00m H=5.00m
0. 592 0.915 0. 300
P
=i
=0
o~
o (]
S S
s 3
HoH % A&
: _ _ 1Y) avoy—k | ma | wmEg
H Jovy ZAau9)—+ | o) —+ EARG HEMEEE
m m2 m3 m3 m2 1.373 1.61 9.15
5.00 5.385 1.113 0.05 1.21 0.55
o9 —hJ Oy oFElEEE BW-L-N (b-R) M B8 = 1Ly
H L Jovy EAavo)—k | EBE o) —k AT KiRE RisEas 21—k HEEIE
m m m2 m3 m3 m3 m2
5.00 12.20 65.697 13.579 0.610 14.76 14.8 1.927 6.71
BEEI
m m2
H=0.00 ~
5.00 4.039
fsEa 91—k NO.0+1.3~0+14.0 L=12.50m
BiTRBm mEiEm2 {KFEm3
NO.0+1.50 0.16
0.50 0.16 0.080
5.00 0.16 0.800
5.00 0.16 0.800
1.70 0.13 0.247
12.20 1.927
» 3 t 9, — L}
HETRERK S=1:100
14. 00 )
13.70 i ‘ N=11
S UIE
0. 33+14. 00+0. 33=14. 66m
HEREEE
14. 00 % 0. 33=4. 62m?2
S IHmTE
13.70%0. 33=4. 52m?2
AL\ {4 A A=
B BREISER
B8 4 RN = MEXEBERE X
MKERX % BEEEE A X S 3 & REHEE | 2 0Okm/h
=3 Z | FER25FEE I XK = O K H
% b1 1 B 1 ZEdh 1 E
B OI i RBFRAIABRRARETHESE #HA
& R R EBE REtE



